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North Kaanapali - Shoreline Positions and Erosion Rates

distance(ft) distance(ft) distance(ft) distance(ft)

distance(ft)

600

500

400

300

600

500

400

300

600

500

400

300

500

400

300

200

500

400

300

200

Tr#0
EPR=-0.8
RLS =-0.9
. AEHR=-0.9
T
+
Solid line = RLS
Dashed line = EPR
1900 1950 2000
Tr#3
EPR =-0.6
RLS =-1.0
+ AEHR=-0.9
= _ + +
+ 1
+
+
1900 1950 2000
Tr#6
EPR=-0.3
RLS =-0.5
AEHR =-0.5
4\%
+
+ 4+ +
1900 1950 2000
Tr#9
EPR=0.0
RLS=-04
AEHR =-04
+ +
==
+
+ 4 +
1900 1950 2000
Tr#12
EPR =-0.0
RLS =-0.2
AEHR =-0.3
+
+
t——t =
+
+
1900 1950 2000
year

+ = Shoreline Position
= QOutlier

600

500

400

300

600

500

400

300

600

500

400

300

500

400

300

200

500

400

300

200

100

Tr#1
EPR=-0.8
RLS =-0.8
. AEHR=-0.9
+
+
+
1900 1950 2000
Tr#4
EPR=-0.5
RLS =-0.7
. AEHR=-07
- 4
= —t
+ F
L T
1900 1950 2000
Tr#7
EPR =-0.1
RLS =-0.4
AEHR =-0.5
* +
N‘—\if
+ o4t
1900 1950 2000
Tr# 10
EPR=10.0
RLS =-0.4
AEHR =-0.4
+
%i*
+ +
L7
1900 1950 2000
Tr#13
EPR =0.1
RLS =-0.2
AEHR =-0.3
+
***‘L:;F;g;£:;§f
+ T
1900 1950 2000
year

O = Hardshoreline designated at that

transect location for that year.

600

500

400

300

600

500

400

300

600

500

400

300

200

500

400

300

200

500

400

300

200

100

Tr#2

1900
Tr#5

1950 2000

EPR =-0.4
RLS = -0.6
AEHR = -0.6

+o+

+

T
L+

1900
Tr#8

1950 2000

EPR=-0.0
RLS =-0.4
AEHR =-0.4

o4
mt—%—;\—F
+ O+

1900
Tr # 11

1950 2000

EPR =0.1
RLS =-0.3
AEHR =-0.3
T4+
==t
A
+

1900
Tr# 14

1950 2000

EPR=0.1

RLS =-0.3

AEHR =-0.3
+

*—ia;i*

+. T

1900 1950

year

2000



North Kaanapali - Shoreline Positions and Erosion Rates

distance(ft) distance(ft) distance(ft) distance(ft)

distance(ft)

500

400

300

200

100

500

400

300

200

100

400

300

200

100

400

300

200

100

400

300

200

100

Tr# 15
EPR =-0.0
RLS =-0.4
AEHR =-0.3
+
T
T, F
1900 1950 2000
Tr# 18
EPR =0.0
RLS =-0.0
AEHR =-0.0
+
+ —-——%r;f;%—4ﬁ+
1900 1950 2000
Tr# 21
EPR=0.2
RLS =0.2
AEHR =0.1
+
e
+
1900 1950 2000
Tr# 24
EPR=04
RLS =-0.0
AEHR =-0.1
s S B
+— - - T '+ ++
1900 1950 2000
Tr# 27
EPR =0.5
RLS =-0.3
AEHR =-0.3
H
\ﬂ?\f’\—f\+
4 — -+ + +
1900 1950 2000
year

+ = Shoreline Position
= QOutlier

500

400

300

200

400

300

200

100

400

300

200

100

400

300

200

100

400

300

200

100

Tr# 16
EPR =-0.1
RLS =-0.2
AEHR =-0.2
+
4;—4:?%;5
T+
1900 1950 2000
Tr#19
EPR=0.2
RLS = 0.1
AEHR =01
+
4-’——;%7-*
+
1900 1950 2000
Tr# 22
EPR=0.2
RLS =0.0
AEHR = 0.1
+
+ #—%th-4;*
1900 1950 2000
Tr#25
EPR=0.5
RLS =-0.3
AEHR =-0.2
+ ++ _+
o — —F
1900 1950 2000
Tr# 28
EPR=0.5
RLS =-0.3
AEHR =-0.2
\j’\%%;j—ﬁ
- —Fv [ =
1900 1950 2000
year

O = Hardshoreline designated at that

transect location for that year.

500

400

300

200

100

400

300

200

100

400

300

200

100

400

300

200

100

400

300

200

100

Tr# 17
EPR =-0.1
RLS =-0.1
AEHR =-0.1
+
e
1900 1950 2000
Tr# 20
EPR =0.3
RLS =0.2
AEHR =0.1
+
ﬁ&g&ﬁ:“:‘f
1900 1950 2000
Tr# 23
EPR =0.3
RLS =-0.0
AEHR =-0.0
+ T i
=7 I
1900 1950 2000
Tr# 26
EPR =0.5
RLS =-0.4
AEHR =-0.3
+ 5l
\:*;\ji+
-7
1900 1950 2000
Tr# 29
EPR =0.5
RLS =0.1
AEHR =-0.0
__;t_iFﬁjj;if&
- -0 +
1900 1950 2000
year



North Kaanapali - Shoreline Positions and Erosion Rates

distance(ft) distance(ft) distance(ft) distance(ft)

distance(ft)

Tr # 30
EPR=04
400 RLS = 0.1
AEHR =0.1
W
— +’_ T+
200 *
100
1900 1950 2000
Tr#33
EPR=0.6
400 RLS = 0.1
AEHR =-0.0
000
—
200 $ 7
100
1900 1950 2000
Tr# 36
EPR = 0.6
400 RLS =-0.3
AEHR = -0.2
300 i
I e =L S
- - +
200t 7 ¢
100
1900 1950 2000
Tr# 39
EPR=05
400 RLS = -0.2
AEHR = -0.2
300
et
200 L $ &
100
1900 1950 2000
Tr # 42
400 EPR=05
RLS =-0.3
- - FTF
200} 4 .
100
0
1900 1950 2000
year

+ = Shoreline Position
= QOutlier

Tr # 31
EPR=04
400 RLS = 0.0
AEHR = 0.1
300 N o,
==t F
200 *
100
1900 1950 2000
Tr# 34
EPR=0.6
400 RLS = -0.4
AEHR = -0.1
300 +
o et
200 $ 7
100
1900 1950 2000
Tr # 37
EPR=06
400 RLS = -0.1
AEHR = -0.2
Y
o00f ¥ & 7
100
1900 1950 2000
Tr # 40
400 EPR=05
RLS = -0.2
300 AEHR = -0.2
et
-
200 s
100
1900 1950 2000
Tr#43
400 EPR=05
RLS = 0.2
200 W
100
0
1900 1950 2000
year

O = Hardshoreline designated at that

transect location for that year.

Tr#32
EPR=0.5
400 RLS = 0.1
AEHR =0.0
300 + o
== =+ F =+
200 + 7
100
1900 1950 2000
Tr#35
EPR = 0.6
400 RLS = 0.1
AEHR =-0.1
300 N +
200f ~ & 7
100
1900 1950 2000
Tr# 38
EPR = 0.6
400 RLS =-0.2
AEHR =-0.2
300
=l
200f ¥ 4 ¢
100
1900 1950 2000
Tr # 41
400 EPR = 0.5
RLS =-0.2
W
200f & —~ " ¢
+
100
0
1900 1950 2000
Tr#44
400 EPR=0.4
RLS =-0.7
L —+
200} 4 — -
100
0
1900 1950 2000
year



North Kaanapali - Shoreline Positions and Erosion Rates

distance(ft) distance(ft) distance(ft) distance(ft)

distance(ft)

Tr# 45
400 EPR = 0.5
RLS =-0.5
s
200t 4 - — -
100
0
1900 1950 2000
Tr # 48
400 EPR=06
RLS = -0.4
300 AEHR =-0.4
—+
200f , _—F
100
0
1900 1950 2000
Tr # 51
RLS = 02
300 AEHR =-0.3
200 Tt
& — — $
100
0
1900 1950 2000
Tr # 54
400 EPR=06
RLS = -0.6
300 AEHR =-0.6
—4
200
100
0
1900 1950 2000
Tr# 57
400 EPR = 0.4
RLS = 0.2
300 AEHR =-0.0
200 = =
100
0
1900 1950 2000
year

+ = Shoreline Position
= QOutlier

Tr # 46
400 EPR = 0.5
RLS=-0.5
300 AEHR = —0.5
—
200 & — —
100
0
1900 1950 2000
Tr # 49
400 EPR = 0.6
RLS =-0.4
300 AEHR =-0.4
L
2000 T TE =
100
0
1900 1950 2000
Tr# 52
Py
300 AEHR =-0.4
200 e —t
4 — +
100
0
1900 1950 2000
Tr# 55
400 EPR=06
RLS =-0.7
300 AEHR =-0.6
—
2000 | &
100
0
1900 1950 2000
Tr # 58
400 EPR=03
RLS = 0.2
300 AEHR =0.2
200 R
100
0
1900 1950 2000
year

O = Hardshoreline designated at that

transect location for that year.

400

300

200

100

0

300

200

100

0

400

300

200

100

0

400

300

200

100

0

400

300

200

100

0

Tr# 47
EPR =0.5
RLS =-04
AEHR =-0.5
— —b
b — —
1900 1950 2000
Tr# 50
EPR =0.6
RLS =-04
AEHR =-0.3
W
& — - 4
1900 1950 2000
Tr# 53
EPR=0.6
RLS =-0.6
AEHR =-0.5
_F ¢
4 —
1900 1950 2000
Tr# 56
EPR =0.5
RLS =-0.6
AEHR =-04
—
b — &
1900 1950 2000
Tr# 59
EPR =0.3
RLS =0.3
AEHR =0.2
k—‘j"’“’"ﬁ
1900 1950 2000
year



North Kaanapali - Shoreline Positions and Erosion Rates

400

)

w
o
o

200

distance(ft

100

0

400

300

200

distance(ft)

100

0

400

300

200

distance(ft)

100

400

300

200

distance(ft)

100

400

300

200

distance(ft)

100

Tr # 60

EPR=0.3
RLS =0.3
AEHR =0.2

g

1900
Tr# 63

1950 2000

EPR=0.2
RLS =0.1
AEHR = 0.1

"

+

1900
Tr # 66

1950 2000

EPR=0.3
RLS =0.2
AEHR =0.2

1900
Tr # 69

1950 2000

EPR=0.3
RLS =0.3
AEHR =0.3

S

1900
Tr# 72

1950 2000

EPR =0.1
RLS =0.3
AEHR =0.3

& — =

1900 1950

year

2000

+ = Shoreline Position
= QOutlier

Tr # 61
400 EPR=03
RLS = -0.1
300 AEHR = 0.1
200f 4 - g
100
0
1900 1950 2000
Tr # 64
400 EPR = 0.3
RLS = 0.2
300 AEHR = 0.2
200 == T
100
1900 1950 2000
Tr # 67
EPR = 0.2
400 RLS = 0.2
AEHR = 0.2
300
F—Jf‘éﬁﬁ%;k
200
100
1900 1950 2000
Tr# 70
EPR = 0.3
400 RLS = 0.3
AEHR = 0.3
300
M‘*"‘#‘F
200
100
1900 1950 2000
Tr#73
EPR = -0.0
400 RLS = 0.3
AEHR = 0.3
300
= =
200
100
1900 1950 2000
year

O = Hardshoreline designated at that
transect location for that year.

400

300

200

100

0

400

300

200

100

400

300

200

100

400

300

200

100

400

300

200

100

Tr # 62

EPR=0.2
RLS =0.1
AEHR =0.1

#—’ﬁfﬁ*

1900
Tr # 65

1950 2000

EPR=0.3
RLS = 0.2
AEHR =0.2

1900
Tr # 68

1950 2000

EPR=0.3
RLS =0.2
AEHR =0.2

e

1900
Tr# 71

1950 2000

EPR=0.2
RLS =0.2
AEHR =0.3

—

1900
Tr#74

1950 2000

EPR=0.0
RLS =0.3
AEHR =0.3

¢ — = =t

+

1900 1950

year

2000



North Kaanapali - Shoreline Positions and Erosion Rates

distance(ft) distance(ft) distance(ft) distance(ft)

distance(ft)

400

300

200

100

400

300

200

100

400

300

200

100

400

300

200

100

400

300

200

100

Tr#75
EPR=0.0
RLS =0.3
AEHR =0.3
4__ PR — —
+
1900 1950 2000
Tr#78
EPR=0.3
RLS =0.7
AEHR =0.7
Vo
PR
1900 1950 2000
Tr # 81
EPR=0.6
RLS =0.5
AEHR =0.5
M
1900 1950 2000
Tr# 84
EPR=0.4
RLS =0.3
AEHR=0.4
o+ -
- T
1900 1950 2000
Tr# 87
EPR=-0.2
RLS =-0.0
AEHR = 0.1
+
= Fi—%ﬂ—— =
1900 1950 2000
year

+ = Shoreline Position
= QOutlier

Tr#76
EPR = 0.1
400 RLS = 0.1
AEHR = 0.4
300 L
- 3
200
100
1900 1950 2000
Tr#79
RLS = 07
400 AEHR = 0.7
300 -
.
200
100
1900 1950 2000
Tr# 82
Ege
400 AEHR =0.5
300 M
200
100
1900 1950 2000
Tr# 85
EPR=0.3
400 RLS =0.3
AEHR =0.3
300
—_ = +— —
200 "
100
1900 1950 2000
Tr # 88
400 EPR =-0.0
RLS =0.2
4___{#_4}__4_&
200 ==+
100
0
1900 1950 2000
year

O = Hardshoreline designated at that

transect location for that year.

Tr# 77
Y
4 =0.

00 AEHR = 0.6
IR
200
100

1900 1950 2000
Tr # 80
RLS =08
400 AEHR = 0.6
300 4
200
100
1900 1950 2000
Tr # 83
RLS =05
400 AEHR = 0.5
300 $
.-
200
100
1900 1950 2000
Tr # 86
EPR = 0.1
400 RLS = 0.1
AEHR = 0.1
300
e
200 $ 9
100
1900 1950 2000
Tr # 89
400 EPR =-0.0
RLS = 0.2
+
200f =%
100
0
1900 1950 2000
year



North Kaanapali - Shoreline Positions and Erosion Rates

distance(ft) distance(ft) distance(ft) distance(ft)

distance(ft)

Tr # 90
400 EPR = 0.1
RLS = 0.3
300 AEHR =0.3
H
200 +———=FF
100
1900 1950 2000
Tr#93
EPR=03
300 o
100
1900 1950 2000
Tr # 96
4 EPR =04
00 RLS = 0.4
300 AEHR = 0.4
200 k""‘;i”/;%
100
1900 1950 2000
Tr # 99
400 EPR=03
RLS = 0.4
300 AEHR = 0.4
100
1900 1950 2000
Tr # 102
400 EPR =03
RLS = 0.3
M
200 :
100
0
1900 1950 2000
year

+ = Shoreline Position
= QOutlier

Tr# 91
EPR=0.2
ol RS
300 e
#/4—%(&*
200 = +
100
1900 1950 2000
Tr# 94
EPR =0.3
300 =0.
4__/4;4«#/——%
200 b +
100
1900 1950 2000
Tr# 97
400 EPR=04
RLS = 0.5
300 AEHR = 0.4
+
200l =T
100
1900 1950 2000
Tr# 100
400 EPR =0.3
RLS = 0.4
300 AEHR = 0.4
V‘Fi,fg
200 — T
100
1900 1950 2000
Tr# 103
400 EPR=0.4
RLS = 0.4
+
200 - 5T
100
0
1900 1950 2000
year

O = Hardshoreline designated at that
transect location for that year.

Tr#92
EPR=0.3
300 T
200 V"*’jﬁ%
100
1900 1950 2000
Tr#95
400 EPR=0.3
RLS = 0.4
300 AEHR = 0.4
s00] ————F T
100
1900 1950 2000
Tr#98
400 EPR=04
RLS = 0.4
300 AEHR = 0.4
+
100
1900 1950 2000
Tr # 101
400 EPR=0.3
RLS = 0.4

+ +
200f 4+ ——tF "

100

0
1900 1950 2000
Tr# 104
400 EPR=0.6
RLS = 0.5
300 AEHR =0.5
—
200 - .
100
1900 1950 2000
year



North Kaanapali - Shoreline Positions and Erosion Rates

distance(ft)

distance(ft)

Tr# 105
400 EPR=0.6
RLS =0.6
300 AEHR =0.6
—r
200 - .
100
1900 1950 2000
Tr# 108
EPR=0.9
400 RLS =0.7
AEHR =0.7
300 4+
%
200 + &
100
1900 1950 2000

+ = Shoreline Position
= QOutlier

400

300

200

100

400

300

200

100

0 =

Tr# 106
EPR =0.7
RLS = 0.6
AEHR =0.6
+
_ ==
4
1900 1950 2000
Tr# 109
EPR=0.9
RLS =0.7
AEHR =0.7
4+ +
/
+
$
1900 1950 2000

Hardshoreline designated at that
transect location for that year.

400

300

200

100

Tr# 107
EPR =0.8
RLS =0.6
AEHR =0.6
/++/af’+
_ =7
k
+
1900 1950 2000



